Term 2 WK 3 day 1

1. 1968+6= 6.304.5 + 7.561=
2. 22X33= 7. 12 X453 =
3. 8X 1= 8. 15% X 1240 =
4. 70% X 2280 = 9.3X ==
4 . —_—
>. T4= 10. James pours 325ml of water
into a 1L container. How much
Challenge: more does he need to pour in to

485 X 291 = fill it? Give your answer in L.



Term 2 WK 3 day 2

1. 6180+ 15=
6. 30000-9 =
2. 42X34-=
S 7. 2.8 X100 =
3. =X-=
8 4
8. 53+42=
4, 2:3=
3 9. 126+ 6 =
2 —
5. 4X 2; = 10. A triangle has a right angle
and an angle of 43°. What is
Challenge: the remaining angle?

12,402 + 13 =



Term 2 WK 3 day 3

6. 65X27 =
1. 3318+ 14=
7.0.0655 X 1000 =
7 1i.7_
' 6 12 8. 254.97-36.921 =
3. 15,173-6,728= 9. 5X7.8=
4. §+ 3= 10.Kim has £10 to spend on sweets.
She buys 2 chocolate bars for 65p
5 gyl each, a bag of sweets for £2.25 and
' 8 some lollipops for her friends for
£3.65. How much change does she
Challenge:

get?
59,313+ 17 =



Term 2 WK 3 day 4

1 12 _ 9. 6. 5.26 X100 =
7 14
7. 18 X 24=
2. 6.9+0.207=
3 6
3. 65% of 1460= 8. 35+ 106"
4. 185.05-16.99= 9. 152 + 8=
5. 63+5= 10. Greg jumps 1.34m, Kevin jumps
1.67m and Pete jumps 1.43m. What
Challenge: is the difference between Greg and

218 X 126= Kevin’s jumps?



Term 2 WK 3 day 5

6. 107.2-18.501=

1. 4816+ 8 =
7. 122+57 =

2. 19X48 =
8.25% X 1820 =

3. 32-22=
4 3

3
9. 17 X E -
4. 35% X 1240=

. 10. 2 4 \

5

Challenge: - 5 ‘ 8

213 X 372=




Term 2 WK 4 day 1

1. 3618 + 9= 6. 134.09-19.1=

7. 2.88 X 1000=
2. 591X 100=

8.4997 +5977

3,2
’ ;Xg_ 9. 5+17 X 7=
4, %% = 10.
5
5. 4X13=
4 —

Challenge:

64,804 +17= 4



Term 2 WK 4 day 2

1. 33.18 +10=
2' 1 z - l =

5 10
3. 159,173 -69,798=
4, . 4=

5
5. 5X2=
3

Challenge:
615X 218=

6. 61X17=

7. 0.619 X 1000=

8. 254.91 -31.991=

9. 30X3.6=
10. 2 \
JEE
4 4
1 3 2 0
1 3 6 4



Term 2 WK 4 day 3

1. 987+ 100 = 6. 15% X 440=
2. 591+ /. 60 -42 +6=
3, 1%%: 8. §x§=

4 §+ = 9 5-2—10=
5. 14ox§= 10.
Challenge:

1,118 +43=




Term 2 WK 4 day 4

1. 20% of 3800=

6. 76.18 + 100=
3 9
2. 3--1—=
5 10 7.125.48 - 72.3=
3. 15X6.1= 8. 89,173 -78,798=

4 9.4-1.15=

10. In a box of 48 oranges 1 in
5 71XA46= every 6 oranges are rotten. How
many rotten oranges are there?

Challenge:
57,091 +37/=



Term 2 WK 4 day 5

6.96 = 4=
1. 100X 412=
1,7
7. 62 + 15 =
2. 4-2=
6 12
8. 60 X 5.8=
3. 50X70=
9.879 X 6=
4 § -~ 5=
-9 10. There are 7 milk chocolates to
3 every dark chocolate in a box of
>. 31 Xf 33 chocolates. How many milk and
dark chocolates are in the box?
Challenge:

173,662 + 62=



